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Accounting — Logical Reasoning - Final Accounts

2. Tick up the correct answer trom the given choicestonly one correct answerh:
{1} The balance of the petty cash is

{a) an expensze, (b) income, {c} an asset (d) Kability
Ans. [c) an Asset

Petty Cash Afc ks the account created for the cash kept aside for petty cash expense, so it is the part of cash
balance hence it is an asset.

{ii) Fixed assets are
{a) keptin the business for use over a long time for earning income
(b) meant for resale
{c] meant tor conversion into rash as quickly as posaible

{d] All of the above
Ans. {a] Kept in the business for use over a long time for earning income.

A long-term asset held for business use and mot expected to be converted to cash in the current or
upcoming fiscal year, such as manufacturing equipment, real estate, and furniture. also called plant Is a
fimed asset.

{iii) Goodwill is
{a) a current aszet (b) an intangible fixed asset
{c] a tangible fixed asset {d) an investment.

Ans. (b) an intangible fixed asset

An asset which cannot be felt by the senses of human being ks treated as Intanglble asset, which does not
exist physically but the value for the same appear in books of accounts.

Goodwill is an intangible asset which provides a competitive advantage, such as a strong brand, reputation,
or high employee morale. in an acquisition, goodwill appears on the balance sheet of the acquirer.

{iv) Stock is
(a) included in the category of fived azsets
{b) an investment.
(c) a part of current assels

{d) an intangible fixed asset
Ans. (c) a part of current assets

Stock Is the amount of goods held for resale in a short period of time; a current asset is the one which is
held for a short period of time and to be converted to cash within that period, generally less than a year.
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(v} The manufacturing account is Ptepa.re-:i:. -
(a) to ascertain the profit or loss on the goods produced
(b} to ascertain the cost of the manufactured goods
{c) to show the sale proceeds trom the goods produced during the vear
{d) both (b) and (c).
Ans. (b)to ascertaln the cost of the manufactured goods produced.
A manufacturing account is prepared by the manufacturer for to record the costs incurred for produecing the

goods during the specified period. The sale proceeds of goods produced Is recorded in the trading account
and hence the ascertalinment of profitfloss on goods produced is also found through trading account

3. i) A new firm commenced business on 1st Jamsary, 2006 and purchased goods costing
Es. 90,000 during the yvear. A sww of Bs. 0000 was spent on freight inwearda. At the
end of the vear the cost of goods still unsald vwas Rs. 12000 Sales during the yvear R
L2000 What is the gross profit earned by the firm?
fa) Es 36000 {b) Rs 30,000 {c) Rz 42,000 {d) Rs 33,000

Ans. (a) Rs. 36000

Trading A/c
Parthculars [ Armount Particulars Amount
To Purchases | S0000

To Frelght G000 | By sales 120000
To Gross By Closing

Profit 35000 Stock 12000

| 132000 132000

(ii) From the following figures ascertain the gross profit:

Es,
Operang Stock (1.1.2006) 25,000
Goods Purchased during 2006 1.30,000
Freight and packing on above 5,000
Closing Stock (31.12.2006) 15,000
Sales 1,590,000
Selling expenzes on sales 9.000
{a) Rs.36,000 (b} Rs. 45,000 (c) Rs. 50,000 (d) Ks.3%,000

Ans. (b) Rs. 45000
Calculation s done same as above, expenses on selling are not considered as the same are Indirect
expenses and hence form part of profit and loss account.

{fil) A prepavment of msurance premium will appear m the Balance Sheet and m the
Insurance Account respectively as:

{a) a habality and a debit balanee. (b) an asset and a debit balanee.
{c} an asset and a eredit balanee [d]- MNoame af the above

Ans. (b)an asset and a debit balance
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(iv) Under-statement of closing work in prng;:.:s;. in the period will
(a) Understate cost of goeds manuwtactured in that peried.
(b) Owerstate current assets.
{c]) Owerstate gross profit from sales in that period.
(d) Understate net income m that period.

Ans. (d) Understate net income in that period.

. Under statement of closing work in progress, will result in higher cost of goods manufactured, which
will be transferred to trading account,

. Due to above the gross profit will get reduced, which |s transferred to profit & loss A/fc
. Hence, due to the reduced gross profit, the iIncome of the period will get understated.

4. (1) It sales reverues are Ra. 4,00,000; cost of goods sold 15 Ra. 3,10,000 and operatng
expenses are Rz 60,000, the gross profit is

{a) Rs. 30,000 (b} Rs 90000 (e} Rs 340,000 (d} Rs. o000
Ans. (b) Rs. 20000

Gross Profit = Sales — Cost of goods sold
50, Gross profit = Rs. 400000 - Rs. 310000 e, Rs. 90000

Mote: Operating expenses has no relevance here (MBEL)

(i) Sales are equal to
(a) Cost af Emdu sold — Gross I:l'r.'tlﬁ.l: (b) Cost af E::Ud: sold + Gross pmfﬂ
{r] Gross profit - Cost of goods aold. (d) Costof goods sold + Met profit.
Ans. (b) Cost of Goods Sold + Gross Profit
Gross Profit = Sales — Cost of Goods sold
S0, we can say: Sales = Cost of goods sold + Gross Profit

() A Company wishes to earn a 20% profit margin on selling price. Which of the folloving
ia the profit mark up on coat, which will achieve the required poofit margm?

(a) 33%. b) 25%. (c) % (d) None of the above.
Aans. |b)25%

Let us assume Selling Price be 100

Profit margin on abowve @ 20% 20

50, Cost of goods sold a0

Mow, |Cross Multiplication] hiark up on cost = 20/80 x 100 Le. 25%

{iv) If sales are Rs. 2,000 and the rate of gross profit on cost of goods sold is 25%, then the
comt ol E:-:d: snld wall be

{a) Rs. 2,000 (by Rs 1,500 {e) Es 1,600 {d) None of the ahove
Ans. (c) Rs. 1600

Let us assume the cost of goods sold be 100

Add: Gross Profit @ rate of 25% 25

Selling Price 125

Cost of Goods Sobd = Sales - Gross Profit

Or Cost of Goods Sold = Rs. 2000 x 1004125 i.e, Rs. 1600
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{v) Sales for the yvear ended 31st March, 2005 amounted to Bz 1000000 Sales included
goods sold to Mr. A for Ks. 50,000 at a profit of 20% on cost. Such goods are still hving
in the godown at the buyer's risk  Therefore, such goods should be treated as part of
{a) Sales b} Closing stock (¢) Goods in transit. (d) Sales refum.
Ans. (a) Sales
When a contract of sale of goods is entered into, the ownership of the goods pets transferred from seller to
the buyer, and afterwards the goods cannot be recorded in the books of seller. Hence as in the gven case

although the poods are lying in sellers godown, these are only possessed by the seller and not owned
hence, the amount of transaction will be part of sales.

5. (i} The capital of a sole trader would change as a result of:
{a) a creditor being paid his account by cheque.
{b) raw materials being purchased on credit
(e} Hxed assets being purchased on credit.
{d) wages being paid in cash.
Ans. (d) Wages being pald in cash

For the wages being paid in cash the amount of profit will change which is added to the capital accouwnt, in
all ather cases the impact is to Increase/decrease an asset and a hability.

{ii} Rent paid on 1 October, 2004 for the vear to 30 September, 2005 swwas Rs. 1,200 and
rent paid on 1 October, 2005 for the vear to 30 September, 2000 was Rz 1600, Rent
payable, as shown in the profit and loss account for the year ended 31 December
2005, would be:

{a) Rs. 1,200 {b) Rs 1,600 ic) Rs, 1,300 {d) Rs. 1,500
Ans. (c) Rs. 1300
Rent for the period from 01.01_2005 to 30092005 9 months @ Rs. 100 k104
Rent for the period from 01.10.2005 to 31.12. 2005 1600 x Iminths/12 mnths 400
Total Rent payable for 2005 1300

(i) A decrease in the provision for doubtful debts would result inc
{a) an increase in labilities (b) a decrease in working capital
{c) a decrease in net profit (d) an increase m net profit.

Ans. (d) an increase in net profit

As the balance of Provision for doubtful is transferred to Profit and boss account, so when there 5 a
decrease in provision the resultant net profit will increase.
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11.

i

il

From the given information, choose the mos! appropriate answer:

Sales  Opeming  Purchases Closing Cost of Gross Trading Nt
Stock Steck  goods seld  Profit  Expenses  Profil
Rs. Rs Rs Rs Ras. Ra Rs Rs.
15.000 6,000 10,000 ? 0,000 ? 4,000 7
{i} The value of closing stock is
{aj Rs. 9,000 {b) F=.4,000 (c) E=.8,000 {d) Ra. 7,000
{1t} Gross profit will be
{a) Es. 6,000 (b} Es. 5000 (¢} Es.5.000 {d) Ra. 7,000
(it} Met profit will be
{a) Rs o000 (b) Rs. 5000 (c) Ra. 2,000 {d} Rs. 7.000
Ans. (d) Rs. 7000
Cost of Goods Sold = Opening Stock + Purchases — Closing Stock
Or, fs. 9000 = 6000 + 10000 - Closing Stock
Hence, Closing Stock = Rs. 16000 — As, 9000 f.e. Rs. 7000
Ans.: (a) Rs. G000
Gross Profit =%5ales — Cost of Goods Sold
= Rs. 15000 - Rs. 9000 i.e. Rs. G000
Ans.: (c] Rs. 2000
MNet Profit = Gross Profit — Trading Expenses
=Rs. 6000 — Rs. 4000 i.e. Rs. 2000
Opening Investment Capital at the Net Profit
Capital By Proprictor Dirawing end af the year {Loss)
Rs. Rs. Rs. Rs. Rs.
16,000 Mil 3,000 13,500 7
(i) The net profit will be
{a) Rs. ol (b} Rs. 500 {c} Rs 550 {d) Es. 700

(i} If in the given information, Net Loss is Bz L0, then the investment made by

the propretor during the yvear will be

{a) Rs1,500 () Rs. 2,000 (¢} Es. 1,000 {d) Rs. 1,700

2k (b} Rs. SO0

Opening Capital + Investment — Drawings + Profit = Closing Capital
Rs. 16000 + 0 — 3000 + x = 13500 l.e. Profit ks Rs. 500
il.  {(a)Rs. 1500
Again putting the figures in formula above:
16000 & x — 3000 — 1000 = 13500 i.e. Capital Invested = Rs. 1500
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. 4 Rs.
Rs
Dipening Stock 20,000 Carriage on sales 3,000
Closing Stock 18,000 Reni of Office 5,000
Purchases 82,300 Sales 1,440,700
Carnage on purchases 2,300
(i) Gross profit will be
(a) Rs. 50,000 (b} REs. 47,600 {c) REs. 43,600 {d) Rs. 50,600
(ii) Met profit will be
(a) Ra. 42,600 {b) Rz, 50,600 {c} Ra. 45,600 (d) Ra. 47,600
Ans. L {d} Rs. 50600
il.  [a)Rs. 42600
Trading, Profit & Loss A/c
Particulars Amount Particulars Amount
To Opening Stock 20000
To Purchases 253800 | By Sales 140700
To Carriage on Pur. 2300 | By Closing Stock 18000
To Gross Profit S0600
158700 158700
To Gross Profit
bfd 50600
To Carrlage on
Sales 3000
To Rent 5000
To Met Profit 42600
50600 50600

4. The Zed Company, a whole seller estunates the following sales for the mdicated months:

June Julyr Angust

2006 2006 20060

Rs REs Rs

Opening atock 4,08,000 4,34.400 4,640,500
Crodit Sales 15,000,000 16,00,000 17,000,000
Cash Sales 200,000 2,.10,000 2.,20,000
Total Sales 17,000,000 18,10,000 19,220,000

Selling price 18 125% of the purchase prce.
{i} The cost of goods sold for the month of June, 2006 is:

{a) Es. 15,20,000 (b) Fa. 1402500 (c) Ks. 12,75,000 {d) Rs. 13,60,000
Ans. [d) Rs. 1360000
It ks given Selling Price is 125% of Purchase Price, Le. the cost of goods sold. Assumbng Cost as 100 Selling
price will be 125,
5o, Cost of Goods sold for June = Total Sales x 100/125
= Rs. 170000 x 100,125 Le. Rs. 1360000
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{ii} Stock purchased in July, 2006 is -
{a) Rs 16,05,000 (b) Rs. 1474400  (c) Rz 14,40,000 (d} Es. 13.52,500

Ans. (b) Rs. 1474400
Cost of Goods Sobd = Opening Stock + Purchases — Closing Stock

Cost of Goods sobd for July = Rs. 1810000 » 100,125 i.e. Rs. 1448000
Mow, apphying formula, Rs. 1448000 = Rs. 434400 + x -460800
Or, ¥ = Rs. 1448000 + 460800 — 434400 I Rs. 1474400/-

5 Considering the following information, answer the gquestion gven below:
1st fomuary  3Lst December

Rs Rs
Stock ol ravw materals 17,400 13,100
Work-in-progress 11,200 11,400
Stock of Hmshed goods 41,500 40,700

During the vear manufacturing overhead expenses amounted to Ko 61,100, manufacturing
wages to Rz 40400 and purchaze of raw materials to Rz, 91,900 There were no other
dirert expenses

{i} The cost of row matenials consumed, issued and used were:

{a) R=. 1,000,300 {b} Rs. 91,400 {cy Rz 91,900 {d) R=. 92,600
{11} The monufacturng cost of fidshed goods produced were:
{a) R=. 1,31,600 (b} s 1,03300  jc} Rs 1,971,900 {dy H=. 1,892,500
{iti) The manufacturing cost of finished goods sald was:
{a) Rz. 1,91.700 (k) Rs. 1,92500 (ch R 1,94,000 (d) R=. 1,93,300.
Ans. L b} Rs. 91200
Cost of Raw Material Consumed = ODpening 5tock + Purchases — Closing Stock
= 17400 + 91900 - 18100 Le. Rs. 91200
i (d} Rs. 192500
Manufacturing, Trading A/c
Particulars Amount Partlculars Amount
To Opening- RM 17400
To Opening WIP 11200
Tao Purchase - RM 91900 | By Closing - RM 18100
Tao Manu. Overheads 61100 | By Closing - WIP 11400
To Manu. Wages 40400
To Manu. Cost 192500
Finished Cost
222000 222000

fil.  {d) Rs. 193300
Manu. Cost of Goods Sold = Opening Stock # Manu cost of Finlshed Goods — Closing Stock
= Rs. 41500 + 192500 — 40700
= Rs. 193300
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